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On the Observation of Displacement at Washiodake
Landslide Area (lI)

By

Teiji Kumagai
National Research Center for Disaster Prevention, Tokyo

Abstract

To make clear the movement of sliding blocks in Washiodake landslide area, extensometers
and shearing displacement meters were set af many positions on the ground surface and af the
observation well on the sliding surface. The observations have been carried out since 1968 and
will be continued until 1974, The data contained in the present report were collected in the

period from September 1971 to March 1972,
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